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Quiz III
Problem I (Multiple choice questions)
1) Consider the following code that will assign a letter grade of ‘A’, ‘B’, ‘C’, ‘D’, or ‘F’ depending 
on a student’s test score.

if(score >= 90) grade = ‘A’;

if(score >= 80) grade = ‘B’;

if(score >= 70) grade = ‘C’;

else if(score >= 60) grade = ‘D’;

else grade = ‘F’;

a. This code will work correctly in all cases

b. This code will work correctly only if score < 70

c. This code will work correctly only if score < 60

d. none of the above
2) What is wrong, logically, with the following code?

if(x > 10) System.out.println(“Large”);

else if(x> 6 && x <= 10) System.out.println(“Medium”);

else System.out.println(“Small”);      

a. The logical error is that no matter what value x is, “Large” is always printed out.

b. The logical error is that no matter what value x is, “Small” is always printed out.

c. There is no logical error, but there is no need to have (x<=10) in the second conditional.

d. There is nothing wrong with the logic at all.
3) The “break” statement does which of the following?

a. Transfers control out of the current control structure such as loop or switch

b. Ends the program

c. Denotes the ending of a switch statement

d. Indicates the end of line when using System.out.print
4) If x is an int where x = 1 initially, what will x be after the following loop terminates?

while(x <= 32)


x *= 2;
a. This is an infinite loop
b. 64

c. 128
d. none of the above
5) How many times will the body of the following loop be executed?

int x = 11;

while(x > 0) {


System.out.println(x);


x--;

}

a. 12 times

b. 10 times

c. 11 times

d. none of the above
6) The statement if(x < 0) y = x; else y = 0; can be rewritten using a conditional operator as:   

a. (x < 0) ? y = x; y = 0 

b. x = (x < 0) ? y : 0;

c. y = (x < 0) ? x : 0; (correct)
d. none of the above
7) The following nested loop structure will execute the innermost statement (x++) how many times?

for(int j=1; j <= 100; j++)


for(int k = 100; k >= 1; k--)



x++; 
a. 10000 times

b. (99 * 99) times

c. 200 times

d. 100000 times
8) What is the order of execution for the following code fragment?
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a. 1, 2, 3, 4, 5, 6, 7,  8, 9, 10

b. 1, 2, 5, 6, 7, 10

c. 1, 2, 8, 9, 10

d. 1, 2, 3, 4, 5, 6, 7, 10

9) What will be the output of the following code segment?


String jumbo = “anarchy”;


String shrimp = “rules”;


int code=1;


if(code == 1)


if(code > 0)


System.out.print(“jumbo”);


System.out.print(“shrimp”);

a. anarchy

b. rules

c. anarchyrules

d. None of the above

10) What will be the value of the variable “s” after the following code is executed?  


a. 4
b. 3
c. 5
d. 2

1. int x=1, value = 0;


2. switch(value) {


3. case 0:


4. 	x++;


5. case 1:


6. 	x = x + 2;


7.   break;


8. default:


9. 	x = x * 2;}


10. System.out.println(x);





int s, p = 2, q = 3, r = 4;


if(p < q) if(r < q)


s = q; else s = r;


else	s = p;


s++;








